
Multiplo Side Table

Made in Brazil.

June / 2023

2023

READ ALL INSTRUCTIONS BEFORE ASSEMBLING SIDE TABLE.



packaging are to

Side Table is intended for home use, not to be used in public institutions.
(hospitals, daycares, etc.)

Made in Brazil.

June / 2023

2023



You will need a Phillips head screwdriver

Multiplo Side Table - Table Parts:

Tools required

MANUFACTURER LABEL
DO NOT REMOVE !

1

1

1

1

2

2

2

2

3

3

4

4

4

4

5

5

1 h

Made in Brazil.

June / 2023

2023

Phillips screwdriver



20 -  Bolts

3 1/8" (7 x 80mm) (A)

16 -  Screws

9/16" (3,5 x 14mm) (B)

08 - Corner plate (C)

FOR MISSING PARTS OR HARDWARE:

DO NOT CONTACT THE STORE WHERE YOU MADE YOUR PURCHASE.DO NOT CONTACT THE STORE WHERE YOU MADE YOUR PURCHASE.
Please contact the manufacturer directly at customercare@pkolino.com or 888-403-8992.
For customer service cases involving hardware please provide the part number.

Identify the size and type of hardware using the illustration below:

01 - Allen wrench (D)



Step 1

Step 2

Sides

Sides

Attach 2 parts  and 1 part  on to part 1 with 6 bolts , using 1 Allen wrench . Repeat this step 2 times.2 3 (A) (D)

Attach part  on to parts  and  with 6 bolts , using 1 Allen wrench . Repeat this step 2 times.1 2 3 (A) (D)

Qty

06A
3 1/8" Bolt

D
Qty

01Allen
wrench

2

2

3

1

D

A

D+A

D+A

D+A

Qty

06A
3 1/8" Bolt

D
Qty

01Allen
wrench

D

A

1

2

2

3 A+D

A+D

A+D

ATTENTION:
ALIGNMENT

ATTENTION



Step 4

Attach 2 parts 4 on to side with 2 bolts (A), using 1 Allen wrench (D).

Attach 2 parts 4 on side with 2 bolts (A), using 1 Allen wrench (D).

Step 3

Qty

02A
3 1/8" Bolt

D
Qty

01Allen
wrench

Qty

02A
3 1/8" Bolt

D
Qty

01Allen
wrench

D

D

A

A

4

4

4

4

D+A

D+A

D+A

D+A

ATTENTION:

1

1

ATTENTION:
ALIGNMENT

ATTENTION:



Attach 8 corner plate  to part  with 8 screws , using a Phillips screwdriver. Repeat this step 2 times.(C) 5 (B)

Step 6
Insert parts  between parts .5 4

Step 5

C
Qty

08Corner
plate

Qty

08
9/16" Screw

B

5

5

5

5

ATTENTION!
PRE-DRILLED HOLES

 PLEASE ASSEMBLE
 ON THE GROUND

B B

B

B

B

B

B

B

B
C C

C

C

C

C

C

C

C

MANUFACTURER LABEL
DO NOT REMOVE !

Phillips screwdriver

MANUFACTURER LABEL
DO  NOT REMOVE !

4

4

4
ATTENTION:



Attach the other side on the parts  with 4 bolts A , using 1 Allen wrench .4  (D)( )

Step 7

Step 8
Attach 8 screws  on to corner plate and parts , using a Phillips screwdriver.(B) 4

Qty

08
9/16" Screw

B

Phillips screwdriver

Qty

04A
3 1/8" Bolt

D
Qty

01Allen
wrench

4

4

4

4

4

4

B

B

B

B

B

B

B

D

A

D+A

D+A

D+A

D+A






